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Q.1 <hftrs FaTers=w femt 3BT A T § 3l TR ToT AN SEF S - 31 S

FEOTET e FOTET 3R?

A X 1. Sepse AT O
X2 gy fewomy Ty
X 3. AT ererdr
4 offEr 3 feoTY UeEd

Question Type : MCQ
Question ID : 630680296130

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

6306801152190
6306801152189
6306801152191
6306801152188
Answered

4

2

¥ mrer Remie’ @ HEET TUE FIUTET 3MR?

Ans x 1. a-‘m-'qa-r_‘r
v 2. AT g4

Xaaﬁ'nmqra?»r

X4 gfear v

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296138
6306801152222
6306801152221
6306801152223
6306801152220
Answered

3

0

Q3 Ffr ERE 9 Fa AT - WeNBT arearar fwardt weg Foar 3

Ans x 1. ma.
X2 FET
X 3. drge
o4 g

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCcQ
630680296123
6306801152160
6306801152161
6306801152162
6306801152163
Answered

4

2




W afEeer FeTen e TR - T e,

Ans x 1. 9 5 ﬂ
X2 o T
X5 HIRH o
4 HH-T AT
Question Type : MCQ
Question ID : 630680296119
Option 11D : 6306801152144
Option 21D : 6306801152145
Option 31D : 6306801152146
Option 41D : 6306801152147
Status : Answered
Chosen Option: 3
Marks : 0
@ mrEEr TR 2
Ans
1. GRS
x 3
2. A= FIS
X e T
X4 TEISHT El'\'?‘l\?lT Gl
Question Type : MCQ
Question ID : 630680296134
Option 11D : 6306801152206
Option 2 ID : 6306801152205
Option 31D : 6306801152204
Option 4 ID : 6306801152207
Status : Answered
Chosen Option : 2
Marks : 2
Q.6
ghelr eregr=m faTaTedt e =T
A K Fdr
X 2. garr
X3 1=
o4 IRTEE
Question Type : MCQ
Question ID : 630680296125
Option 11D : 6306801152171
Option 21D : 6306801152170
Option 3D : 6306801152169
Option 41D : 6306801152168
Status : Answered
Chosen Option: 3
Marks : 0




Y e EEER s T
Ans K. T RN ERRa 4 fHad =@,

X 2. =T TR g AW fBed =weres.
X 5. TOT=AT AR ggge 99 e =mer.
v TATEAT RN g@Ee v fBwd =

Question Type :

Question ID

Option 11D :

Option 2 ID

Option 4 ID

McQ
: 630680296115
6306801152128

1 6306801152129
Option 31D :

6306801152131

: 6306801152130
Status :
Chosen Option :
Marks :

Answered
4
2

Qs WWWWWWM-WWH&WW

Ans

X 1. gl T
X2 GEF TR0
X 3. HTIEAT AT FIgeT TR0
v EA Emho

Question Type :
Question ID :
Option 11D :

Option 2 ID

Chosen Option

McQ
630680296132
6306801152197

: 6306801152198
Option 31D :
Option 41D :

Status :
)
Marks :

6306801152199
6306801152196
Answered

2

Q.9

Ans

‘TATE' ea= TATATST FTeem 9aTT HIaaET.

= I
e

X 3. ThTRTOT

X 4 o

Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 41D :

Status :

Chosen Option

Marks :

MCcQ
630680296121
6306801152153

: 6306801152155

6306801152152
6306801152154
Answered

1

2




W e AR T FEEl GEEET FUE 3T
Ans X 1. ToT

&7 e

X5 T

X 4 T

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680296136
6306801152215
6306801152214
6306801152213
6306801152212
Answered

2

2

Q11 (o) AT TF TS WEHR AT (TGO AAHT VT AHAT TSR 38 AR

FHIAS A AT T TeAGe A7 TFT FAN L.
Ans X 1.

AT METE T Toed HAHhR AT Taedr STdAT YHa aTAa aisdel 387 ANe.

~< 2.

AT AT T TAGH HEFR AT T qAAT Vel ATHAT ATSeHha 587 AL

W3

ASAL=AT METT TF FAGT HEH AT AT ATaAT Vehet aATHAA ATSere] 387 HILA.

X 4

AT AT Ueh FAGT HIEGHN FIUT IG0T SIFAT Vel ATHAN ATSehed 581 AR

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680296116
6306801152135
6306801152132
6306801152134
6306801152133
Answered

3

2

Q.12

M o oy o R
w2 ST 99 e Ee.
X3 @ 97 °Ee.
X4 gr o7 g 3w

T o7 PR - T T FAT FA TS T F

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296120
6306801152150
6306801152148
6306801152151
6306801152149
Answered

2

2




Q.13

VAT FATATT Tigel I¢ Hgecars 38 ?

Ans .
X ZEeE
X2 agéﬁr
3 g
Ka g aiﬂl
Question Type : MCQ
Question ID : 630680296127
Option 11D : 6306801152176
Option 21D : 6306801152179
Option 31D : 6306801152177
Option 41D : 6306801152178
Status : Answered
Chosen Option: 3
Marks : 2
W emtEEr oy GE)
Ans o1 BRI SHET TEUTRT
X 2. T e
X 3. 9ETIE 33 TAT FHIOTNI
A4 HoOT Fdesar cheFdr
Question Type : MCQ
Question ID : 630680296117
Option 11D : 6306801152137
Option 21D : 6306801152138
Option 3D : 6306801152136
Option 41D : 6306801152139
Status : Answered
Chosen Option : 1
Marks : 2
Q.15
areiterter et eregr R ST FoTr 32
Ans K ofrer x eEe
X2 Jemr x &t
X3 fa9" x gH
o4 Hel9H X HelaAd
2 2
Question Type : MCQ
Question ID : 630680296124
Option 11D : 6306801152164
Option 21D : 6306801152166
Option 31D : 6306801152167
Option 41D : 6306801152165
Status : Answered
Chosen Option : 4
Marks : 2
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v mE e
x 2 :ﬁek?r
X 3. SIS Far=ar Serdd
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Question Type : MCQ
Question ID : 630680296135
Option 11D : 6306801152211
Option 2 ID : 6306801152210
Option 3 ID : 6306801152209
Option 41D : 6306801152208
Status : Answered
Chosen Option : 1
Marks : 2
OV el SR AT 3TEET Forel MY CAEYe ThET T2 3.
Ans :
K 1. TS 9ol 9T ST IIEUAr=aT 3§ISTTE HTE.
o 2.
Mﬂﬂ?ﬂ' HEo =R 3-11%’ WY FSATT ZITETAT 'CI'EITEEFIT
X 3
TTET=T fEATHETSr SIeEr FTETr AT ST AGHETAT HSATAr fee.
X a
TR Aol Shedled HRcl F ARAHE HTST S,
Question Type : MCQ
Question ID : 630680296133
Option 11D : 6306801152200
Option 2 ID : 6306801152203
Option 3 1D : 6306801152202
Option 4 ID : 6306801152201
Status : Answered
Chosen Option : 2
Marks : 2




Qi gE TW HUTET IR?
s X1 AT Rew

2. FRTCHT Bl

X 3. g aTaTHREE HEEHT

X 4 wifadETE For

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296137
6306801152219
6306801152216
6306801152218
6306801152217
Answered

2

2

Q1 g erecraT @R BoE FEeT 3 S aEvT 9Ot Ao am

A v O - Riges ArEereT
X 2 FIATET - Fadr=T JIeT
X 3. FIF - 3T FIOT
X 4 UG - FAOTET gAET

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296126
6306801152174
6306801152172
6306801152175
6306801152173
Answered

1

2

2 ool AT TR 3 FIUTET IR

AN X1 SOTerT TETETET ST 3T 34T
X 2. g WATATAT ST

V'3 ST ATATET FRL ATGr 34T

XK 4 FHATSATAST Hgccdl=ll Haah

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680296118
6306801152141
6306801152143
6306801152140
6306801152142
Answered

4

0




X 2. FaT=AT FAY e i
X 5. 3edrer RI9 a7 SAAe o
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Q21 Fshe e AR A e ST ASRe Y o IR R A,

MK s G @ e

Question Type :

Question ID

Option 11D :
Option 21D :

Option 3 ID
Option 4 ID
Status

Chosen Option :

Marks

MCQ

1 630680296131
6306801152193
6306801152195
: 6306801152192
: 6306801152194
. Answered

4

12

.22 -
2 SrEme ’I_‘;-‘IIITJ:IT?IDFW ITF AFYTAT HISET.

Ans .
X 1. el T dr G .
2 TeRaT ST HTHZIAT TSI 3HTeT.
< 3. HIE] STl FedlehaToT I HTSI0T.
X4 e H qrTeT T FHEFRR FE.
Question Type : MCQ
Question ID : 630680296114
Option 11D : 6306801152125
Option 21D : 6306801152124
Option 3 ID : 6306801152127
Option 41D : 6306801152126
Status : Answered
Chosen Option: 2
Marks : 2
Q.23
TATTT 2reg 3fTeaaT.
T
Ans x 7 ﬁ‘?{
X2 Trar
¥ gqoT
<4 TA
Question Type : MCQ
Question ID : 630680296122
Option 11D : 6306801152159
Option 21D : 6306801152158
Option 3 ID : 6306801152156
Option 41D : 6306801152157
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680296129
6306801152185
6306801152184
6306801152186
6306801152187
Answered

3

2

02 e FeER T e WY R M,
= A=
X 2. 875 FIOT - oF FTERT EoT
X3 .
X4

TS T T AT,

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680296128
6306801152180
6306801152183
6306801152182
6306801152181
Answered

1

2

Section : English Language

Q.1 Select the most appropriate option to fill in the blanks.

All disciples of
X 1.a;the
&K 2.the;a
o 3. the; the

X 4.aa

hermit had gathered outside the hermitage.

Ans

Question Type

. MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

630680274453
6306801066326
6306801066324
6306801066323
6306801066325
Answered

2

0




Q.2 Select the most appropriate meaning of the given proverb.

Don't count your chickens before they hatch.
Ans 4 1. Don't be too optimistic about the future.

/< 2. Don't count your money.
/5 3. Don't count your blessings.

/X 4. Don't be too pessimistic about the future.

Question Type : MCQ
Question ID : 630680274550
Option 11D : 6306801066711
Option 21D : 6306801066714
Option 31D : 6306801066713
Option 41D : 6306801066712
Status : Answered
Chosen Option : 4
Marks : 0
Q.3 The following sentence contains an error. Parts of the sentence have been given as options
with some changes. Select the option that correctly rectifies the error.
We had been having dinner at Sara’s house last night when the building nearby fell.
Ans X 1.building nearby felt
/X 2. were having
#¥ 3. building had fallen
/< 4. had had
Question Type : MCQ
Question ID : 630680280648
Option 11D : 6306801090829
Option 21D : 6306801090827
Option 3 ID : 6306801090830
Option 4 1D : 6306801090828
Status : Answered
Chosen Option: 1
Marks : 0
Q.4 Select the most appropriate synonym of the given word.
Deadly
Ans 1. Fatal
25 2. Filial
/< 3. Banal
X 4. Frugal
Question Type : MCQ
Question ID : 630680252317
Option 11D : 630680979250
Option 2 ID : 630680979247
Option 3 1D : 630680979248
Option 4 ID : 630680979249
Status : Answered
Chosen Option : 1
Marks : 2




Q.5 The following sentence has been split into four segments. Identify the segment that

Ans

contains a grammatical error.

The circle of Willis, a loop of blood vessels near the bottom of the brain that connects major
arteries, / circulates blood from the front of the brain to the back / and helps the arterial
systems / communicating with one another.

#5 1. circulates blood from the front of the brain to the back

/5 2. The circle of Willis, a loop of blood vessels near the bottom of the brain that connects

major arteries

/5 3. and helps the arterial systems

&# 4. communicating with one another

Question Type : MCQ
Question ID : 630680274451
Option 11D : 6306801066316
Option 2 ID : 6306801066315
Option 3 1D : 6306801066317
Option 4 1D : 6306801066318
Status : Answered
Chosen Option : 2
Marks : 0
Q.6 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
As the teacher / stepped in the room / the students stood up / to greet him.
Ans X 1.to greet him.
/5 2. the students stood up
o 3. stepped in the room
/X 4. As the teacher
Question Type : MCQ
Question ID : 630680252295
Option 11D : 630680979162
Option 2 ID : 630680979161
Option 3 1D : 630680979160
Option 4 1D : 630680979159
Status : Answered
Chosen Option: 1
Marks : 0
Q.7 Select the most appropriate question tag to fill in the blank.
My friends had not gone there, ?
Ans X 1.haven't they
X 2. could they
/5 3. have they
& 4. had they
Question Type : MCQ
Question ID : 630680274676
Option 11D : 6306801067216
Option 2 ID : 6306801067218
Option 3 1D : 6306801067215
Option 4 1D : 6306801067217
Status : Answered
Chosen Option: 3
Marks : 0




Q.8 Select the most appropriate option to fill in the blank.
Our new maid is
¥ 1.too
X 2.s0
X 3.t0
X 4. lately

lazy to do any extra household chores.
Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252555
630680980201
630680980199
630680980200
630680980202
Answered

1

2

Q.9 Choose the correct set of punctuation marks to be used in the given sentence. Option (i)
includes the first two blanks. Both blanks may or may not be used.

(i) Arihant is trying hard this academic year (ji),
his father.

45 1. (i) Quotation mark, (i) Colon, (iii) Quotation mark

said Mr. Agarwal (i)

Ans
/5 2. (i) Apostrophe, (i) Quotation mark, (iii) Comma
& 3. (i) Quotation mark, (i) Quotation mark, (iii) Comma

/5 4. (i) Parentheses, (i) Colon, (iii) Parentheses

Option 11D

Marks

Question Type :
Question ID :

: 6306801092312
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
:0

McQ
630680281019

6306801092313
6306801092314
6306801092311
Answered

4

Q.10 Select the most appropriate option to fill in the blank.

| only care about three things nowadays
personal growth.

5 1.; (Semi-colon)
/5 2. (Full stop)

%" 3. (Colon)
/5 4.1 (Exclamation mark)

my family, my health, and my

Ans

Option 2 ID

Option 4 ID

Question Type :
Question ID :
Option 11D :

: 630680980042

Option 31D :

: 630680980040

Status :

Chosen Option :

Marks :

MCQ
630680252515
630680980039

630680980041
Answered

3
2




Q.11 Select the most appropriate meaning of the given proverb.

Make hay while the sun shines.
Ans

X 2. A person will enjoy freely when master is away.
& 3. Avail yourself of opportunities when they occur.

/X 4. Do not examine a free gift too critically.

/5 1. Circumstances sometimes compel us to do things which we do not like to do.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252308
630680979213
630680979212
630680979214
630680979211
Answered

3

2

Q.12 Select the INCORRECTLY spelt word in the following sentence.

The student was awarded a scholorship for her academic achievements.
&# 1. scholorship
/5 2. student
X 3. awarded

Ans

/< 4. achievements

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274543
6306801066685
6306801066683
6306801066684
6306801066686
Answered

1

2

Q.13 Select the most appropriate option to fill in the blanks.

| am planning to take break in next semester.

&K 1.the;a

o 2. a; the
/X 3. the; the

X 4.aa

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274458
6306801066345
6306801066343
6306801066344
6306801066346
Answered

1

0




Q.14 Select the most appropriate option to fill in the blank.

The bag that | is yours and the other bag lying there on the bench is mine.

Ans & 1. am holding
/5 2. has being holding
/< 3. were holding
X 4. will have been holding

Question Type : MCQ
Question ID : 630680280748
Option 11D : 6306801091229
Option 2 ID : 6306801091227
Option 3 1D : 6306801091230
Option 4 1D : 6306801091228
Status : Answered
Chosen Option : 4
Marks : 0
Q.15 Select the most appropriate ANTONYM of the given word.
Prime
Ans " 1. Secondary
X 2.Bloom
/5 3. Under
/X 4. Best
Question Type : MCQ
Question ID : 630680280665
Option 11D : 6306801090896
Option 2 ID : 6306801090898
Option 31D : 6306801090895
Option 4 1D : 6306801090897
Status : Answered
Chosen Option : 1
Marks : 2
Q.16 Select the most appropriate option to fill in the blank.
He spread out the papers the table, and gave little darting glances from one to the
other.
Ans 1. upon
& 2.0n
X 3.at
X 4. over
Question Type : MCQ
Question ID : 630680274370
Option 11D : 6306801065992
Option 2 ID : 6306801065993
Option 31D : 6306801065994
Option 4 1D : 6306801065991
Status : Answered
Chosen Option: 1
Marks : 2




Q.17 Select the most appropriate synonym of the given word.

Reprimand
Ans 4 1. Rebuke
X 2. Greet
45 3. Vanish
X 4. Spoil
Question Type : MCQ
Question ID : 630680252551
Option 11D : 630680980186
Option 2 ID : 630680980184
Option 3 1D : 630680980185
Option 4 1D : 630680980183
Status : Answered
Chosen Option : 2
Marks : 0
Q.18 Select the option that expresses the given sentence in passive voice.
The blue-eyed boy kicked a ball.
Ans X 1. Aball has kicked the blue-eyed boy.
/5 2. A ball were kicked by the blue-eyed boy.
X 3. Aball is kicked by the blue-eyed boy.
& 4. A ball was kicked by the blue-eyed boy.
Question Type : MCQ
Question ID : 630680274684
Option 11D : 6306801067249
Option 2 ID : 6306801067248
Option 3 1D : 6306801067247
Option 4 1D : 6306801067250
Status : Answered
Chosen Option: 3
Marks : 0
Q.19 Select the option that expresses the given sentence in active voice.
Savita was attacked by a dangerous snake in the garden.
Ans X 1.The dangerous snake was attacked by Savita in the garden.
/5 2. Savita attacked the snake in the garden.
& 3. The dangerous snake attacked Savita in the garden.
/X 4. The garden attacked dangerous snake by Savita in the garden.
Question Type : MCQ
Question ID : 630680281075
Option 11D : 6306801092535
Option 2 ID : 6306801092538
Option 31D : 6306801092537
Option 4 1D : 6306801092536
Status : Answered
Chosen Option: 1
Marks : 0




Q.20 Select the most appropriate option to fill in the blank.

You can ask my friend for help. He is
Ans 4 1.rich enough

to provide for us.

X 2.toorich
/5 3. enough rich
X 4.richtoo
Question Type : MCQ
Question ID : 630680274500
Option 11D : 6306801066512
Option 2 1D : 6306801066511
Option 3 1D : 6306801066514
Option 4 1D : 6306801066513
Status : Answered
Chosen Option: 3
Marks : 0
Q.21 Select the most appropriate question tag for the given sentence.
The peon has locked the classrooms,
Ans X 1.didn't he
¥ 2. hasn't he
/5 3.don't he
/X 4. does he
Question Type : MCQ
Question ID : 630680280622
Option 11D : 6306801090724
Option 2 ID : 6306801090725
Option 3 1D : 6306801090723
Option 4 1D : 6306801090726
Status : Answered
Chosen Option : 4
Marks : 0
Q.22 Select the most appropriate meaning of the given proverb.
Actions speak louder than words.
Ans X 1.0ne must always speak loudly after a prolonged silence
/5 2. Practical experience can help one speak better
/< 3. The first step should always be taken after consulting others.
& 4. What one does is more important than what one says
Question Type : MCQ
Question ID : 630680252530
Option 11D : 630680980100
Option 2 ID : 630680980101
Option 3 1D : 630680980099
Option 4 1D : 630680980102
Status : Answered
Chosen Option : 4
Marks : 2




Q.23 Select the most appropriate option to fill in the blank and make a grammatically correct

sentence.
Do you

Ans o 1. enjoy

the rains in the monsoon ?

X 2. enjoying
/< 3. enjoyed
X 4. enjoys
Question Type : MCQ
Question ID : 630680280762
Option 11D : 6306801091283
Option 2 ID : 6306801091285
Option 31D : 6306801091286
Option 4 1D : 6306801091284
Status : Answered
Chosen Option : 2
Marks : 0
Q.24 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
The gardener / grow a tomato / plant in the / garden last summer.
Ans X 1.plantinthe
/X 2. The gardener
X 3. garden last summer
..f 4. grow a tomato
Question Type : MCQ
Question ID : 630680274681
Option 11D : 6306801067237
Option 21D : 6306801067235
Option 3 1D : 6306801067238
Option 41D : 6306801067236
Status : Answered
Chosen Option: 3
Marks : 0

Q.25 In the following sentence, four words are underlined out of which one word is misspelled.

Find the INCORRECTLY spelt word.

The use of pillows remained uncommon after the fall of the Roman Empire and throughout
the Middle Ages, as the only people who could reliably affrod such a luxurious use of fabric

were nobility.
Ans o 1. affrod

/5 2. Empire
X 3. reliably
/5 4. nobility

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680280652
6306801090845
6306801090843
6306801090844
6306801090846
Answered

1

2

Section : General Knowledge
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Ans X 1.1 smforin
K 2. wh I
X 3. % |
f 4. | 3nfor ||
Question Type : MCQ
Question ID : 630680278295
Option 11D : 6306801081538
Option 21D : 6306801081540
Option 31D : 6306801081537
Option 41D : 6306801081539
Status : Answered
Chosen Option : 4
Marks : 2
Q.2 fUd SERTETS) TshHUR HIeOH 1T 3TR?
Ans 1 L0
X2
K3
X4
Question Type : MCQ
Question ID : 630680270132
Option 11D : 6306801049780
Option 21D : 6306801049781
Option 31D : 6306801049782
Option 41D : 6306801049779
Status : Answered
Chosen Option: 3
Marks : 0
Q.3 ¥ aReror yorel AT devfa PQWL 3 guf &u s smg?
Ans X 1. dfecres g afé foe (Public Queue Waiting List)
X 2.yt erg 3fé fore (Primary Queue Waiting List)
s 3. Ies @i afdw fawe (Pooled Quota Waiting List)
X 4. gar g 3fé fae (Poor Queue Waiting List)
Question Type : MCQ
Question ID : 630680275738
Option 11D : 6306801071466
Option 2 1D : 6306801071463
Option 31D : 6306801071465
Option 4 1D : 6306801071464
Status : Answered
Chosen Option: 3
Marks : 2




Q.4 GreiieTteh! hivTeT ea<hia AT Agdtad TRIST Y& RUTGT Shefl?
Ans X 1.9 ). g

< 2. mgraar i
X 3. sy, ot it
o 4. 91 AR T

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270079
6306801049569
6306801049568
6306801049570
6306801049567
Answered

4

2

Q.5 siawRmgiy HRurg 150 arsfr sima, afgen snfoy gerie aenden ufdsy areoarars) adw
fafary T Iuma Jafvarand), 2022 Al @reflerddl fhivrar 2 YRarsTad 52 @

digagw (BSF) Eisit (DG) wriadte fuefta =af et gidi?
Ans X 1. uifham
&K 2. 3T
X 3. o=
o 4. T

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275576
6306801070816
6306801070818
6306801070817
6306801070815
Answered

4

2

Q.6 @t If¥ar gar shiet wuf-2022 =t & wraenforr @yt A% amifSia wevara sireft gt

Ans X 1.9 0eS1
X 2. gRamn
o 3. 7 fecelt
K 4. ToRd

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270041
6306801049416
6306801049418
6306801049415
6306801049417
Answered

1

0




Q.7 SHRE 2022 FeA, ERIAAT IV AT HIE) Se1forh Hperd Igred dhat A1?

Ans X 1.3mThle
X 2. OREER
o 3. SEACETS
XK 4.9
Question Type : MCQ
Question ID : 630680275646
Option 11D : 6306801071095
Option 2 ID : 6306801071096
Option 3 1D : 6306801071097
Option 41D : 6306801071098
Status : Answered
Chosen Option : 4
Marks : 0
Q.8 2011 =47 SFRIVHHR, WRAT Afgeiaed Aierdr &3 fhdt omg?
Ans o 1.65.46%
X 2.72.46%
X 3.75.46%
X 4.69.46%
Question Type : MCQ
Question ID : 630680270562
Option 11D : 6306801051435
Option 21D : 6306801051437
Option 31D : 6306801051434
Option 41D : 6306801051436
Status : Answered
Chosen Option : 1
Marks : 2
Q.9 Thgart 2023 Hed, WRATA NRAE TR Weafeen FR=0T UIeR FHRUTRT 311l Agiedd H1S UR
USeT glar?
Ans X 1.49WTcis
< 2. sifgem
o 3. T et
X 4. gREE
Question Type : MCQ
Question ID : 630680275633
Option 11D : 6306801071045
Option 2 ID : 6306801071044
Option 3 1D : 6306801071046
Option 41D : 6306801071043
Status : Answered
Chosen Option: 1
Marks : 0




Q.10 1951 A¢d oy oif w1 Snfar<ht dar Heer=h wmu=T Tift et g,

Ans X 1. HEET TEiUTE™
& 2. aiffeTE g
o 3. TR
X 4. oAy =
Question Type : MCQ
Question ID : 630680278309
Option 11D : 6306801081593
Option 21D : 6306801081596
Option 31D : 6306801081594
Option 4 ID : 6306801081595
Status : Answered
Chosen Option : 1
Marks : 0
Q.11 WRATAT HIUTAT TR Aehes (330 winie v« siesa?
Ans o 1. ufgm e
X 2. gazeH
X 3. IRT gTesde
/X 4. ATeal ISR
Question Type : MCQ
Question ID : 630680275780
Option 11D : 6306801071631
Option 21D : 6306801071632
Option 31D : 6306801071634
Option 41D : 6306801071633
Status : Answered
Chosen Option : 1
Marks : 2
Q.12 #eren miefiH ____ dfie Araraedt snsmmaRge gidada s deame wreer giar.
Ans X 1. OREER
X 2. 98k
o 3. JgHEEE
K 4. SR
Question Type : MCQ
Question ID : 630680278304
Option 11D : 6306801081574
Option 21D : 6306801081575
Option 31D : 6306801081573
Option 41D : 6306801081576
Status : Answered

Chosen Option :
Marks :

1
0




Q.13 YR TsageAdie HIUT ¥ ST geq Warvara e sma?
Ans o 1. STTUftaTofieRrT Hered gah Fete

X 2. g gewid s

X 3. AR dHgTehs ot

X 4. gaadt g deheamr

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275834
6306801071847
6306801071848
6306801071850
6306801071849
Answered

1

2

Q.14 ieger 2022 A%, ¥R a=gsita siasme =, gfot 3t s ai= gy Tg<ar=r (UN)
T gafaroT qRERRT T SHRUATd ST, T 10T THEMR A< THeard?

Ans X 1.T@RYY
s 2. BRMeT It
X 3. frepten smff
X 4. TeTRSqu

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275579
6306801070828
6306801070829
6306801070827
6306801070830
Answered

4

0

Q.15 Erefierd<hl shivmen WRd Asaue=aT 3gSs 243 Q Sidifd wivde! & ‘HehauiRfia &' guE
fafafée w=varn R amg?

Ans X 1. gt
X 2. gt
/< 3. gaue

g 4. TS

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270111
6306801049697
6306801049698
6306801049696
6306801049695
Answered

2

0




Q.16 Isar Jeeg Aifgdt g onfor wsa Arfg srg=hi-T ___ gR fAfga dheurger, 37 s«

e srifoy = Rt sirefien.
Ans X 1. T faemEeT

o 2. &5 THR
X 3. TG AR
X 4. g IsgaTe

Question Type

: MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

630680275886
6306801072056
6306801072057
6306801072058
6306801072055
Answered

4

0

Q.17 HERIETA WielieTdeh! ShIUTT TATSTRTR ST-Ea-TH! TATIT el TfoT FEIRHETS i=h

heleaT AT A st Aa?
Ans X 1. freRmdd gmer
& 2. Riydrs queis
< 3. UigeT gerfig u=
w4, TS 3T
Question Type : MCQ
Question ID : 630680275217
Option 11D : 6306801069380
Option 21D : 6306801069381
Option 3 1D : 6306801069382
Option 4 ID : 6306801069379
Status : Answered
Chosen Option : 4
Marks : 2
Q.18 gufur g FRTS} iU Wiefierdehl Fhivft == Fat?
Ans X 1. 913 gIoit a8
X 2. Uigd garig am
o 3. TSl SR
X 4. TSI et
Question Type : MCQ
Question ID : 630680275235
Option 11D : 6306801069452
Option 21D : 6306801069454
Option 31D : 6306801069451
Option 4 ID : 6306801069453
Status : Answered
Chosen Option: 3
Marks : 2




Q.19 VT UaNLTHI=AT AR, 42 AT FeTgewil SfAFTT 1976 gR TsaaeHed T et
AT et Teft?

Ans X 1. HRRel 98

X 2. ofig i
X 3. o flg
o 4. 3T el
Question Type : MCQ
Question ID : 630680275849
Option 11D : 6306801071908
Option 2 1D : 6306801071910
Option 31D : 6306801071909
Option 4 1D : 6306801071907
Status : Answered
Chosen Option : 4
Marks : 2
Q.20 s it 1859 =1 b= Taumug hel gia.
Ans o 1. Slaed
X 2. BRER
X 3. Ry
& 4 SHFER
Question Type : MCQ
Question ID : 630680270062
Option 11D : 6306801049501
Option 21D : 6306801049502
Option 3 1D : 6306801049500
Option 41D : 6306801049499
Status : Answered
Chosen Option: 1
Marks : 2
Q.21 Erefierd<hl v 'SSeATS Bk 331} EeTerst’ (Outline for Dairy Technology) AT qeaehrt
A BUE 29 R sa?
Ans X 1.9 3w
X 2. g emf
o 3. gFIR S
X 4. e
Question Type : MCQ
Question ID : 630680270146
Option 11D : 6306801049838
Option 2 ID : 6306801049835
Option 3 ID : 6306801049836
Option 4 1D : 6306801049837
Status : Answered
Chosen Option : 2
Marks : 0




Q.22 RTI sifafgs d@quf wRa«
Ans X 1. SaER 2006

TG AR AT,

7 2. 3ifaRIeR 2006
/X 3. feder 2005
o 4 3ifeetsr 2005
Question Type : MCQ
Question ID : 630680275890
Option 11D : 6306801072072
Option 2 ID : 6306801072074
Option 31D : 6306801072071
Option 41D : 6306801072073
Status : Answered
Chosen Option : 4
Marks : 2
Q.23 SR YATIFIh FATEA STl Saetedr Tz AfRaar g unT wur, ot shiar
THEHUTENIRE 6000 Hiex @reft ursfavar wrRar IRE ema?
Ans 1.3
X 22
X 3.4
K 4.5
Question Type : MCQ
Question ID : 630680278292
Option 11D : 6306801081526
Option 2 1D : 6306801081525
Option 3 ID : 6306801081527
Option 41D : 6306801081528
Status : Answered
Chosen Option: 3
Marks : 0
Q.24 RA=AT (lac) STEATIT Tld 1T HTR?
Ans 1. Fleaw
X 2.9
X 3. uH
XK 4FR
Question Type : MCQ
Question ID : 630680270126
Option 11D : 6306801049756
Option 2 ID : 6306801049757
Option 31D : 6306801049758
Option 4 ID : 6306801049755
Status : Answered

Chosen Option :
Marks :

1
2




Q.25 WrefieTdehl IOt TEt SR T Iu=IEl 3ma?
Ans X 1. #iedad

o 2. Rt &)
X 3. g
X 4. eom Y
Question Type : MCQ
Question ID : 630680270526
Option 11D : 6306801051293
Option 21D : 6306801051290
Option 31D : 6306801051291
Option 41D : 6306801051292
Status : Answered
Chosen Option : 2
Marks : 2
Section : General Intelligence
Q.1 Rewar miferdha ? =1 sinft s arge ga?
1,9,25,43,79,117,193, 271, ?, 585
Ans X 1.472
& 2.512
W 3. 427
& 4.521
Question Type : MCQ
Question ID : 630680277029
Option 11D : 6306801076612
Option 21D : 6306801076609
Option 31D : 6306801076610
Option 41D : 6306801076611
Status : Answered
Chosen Option: 3
Marks : 2

Q.2 A, B 37for C g Geh &1H 3ieh#t 20, 30 311foY 60 Rawia & 2rehdrd. & faw=ar feasfi B enfor ¢

it e dqeary, A g1 ford Radia d &m &< aha?

Ans X 1.12faw
W 2. 15Ty
X 3.16 Raw
X 4.18 fegw

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287446
6306801117691
6306801117692
6306801117693
6306801117694
Answered

2

2




a3 .

Ans X 1.%69,600
/5 2.375,000
X 3.%1,12,500

¥ 4.%1,08,750

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287189
6306801116663
6306801116665
6306801116666
6306801116664
Answered

4

2

Q.4 Ueh Tl Giaardt 525.80 km, 311fOY Hraardt 514.75 km 3iaR UR &<a. 9 fRRawia ar deat

QRUT 3R 1600 km SrETeaTH, Jerarst ot faelt sieR UR Fer?

Ans X 1.558.55km
/X 2.558.45km

" 3.559.45 km

/5 4.559.55 km

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680277272
6306801077538
6306801077537
6306801077539
6306801077540
Answered

3

2

Q.5 Rt mifrenr adhgear guf gloaramdt usifRgren (?) Srft @rfieaddt wvmar gafa smer aifgs?

2,8,18,32,50,?
Ans X 1.65

X 2.80

w372
X 4.88

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680256923
630680997603
630680997605
630680997604
630680997606
Answered

3

2




Q.6 dhe Uk Tchs-§s Tpex WA el Sfor farean goedians! farmedi=ar 10% @< weat. = ot
Tpex ¥2,200 T fheft. SR @™ 20% THT HHTGET 38, TR gEEiar fohdt @ dher?

< 1.3400
< 2.31,200

Ans

W 3.31,000
< 4.3750

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287179
6306801116623
6306801116625
6306801116626
6306801116624
Answered

3

2

Q.7 e/« Rum/a enfor fAsry Fargde aran. Rrummsd Resh mifgdh & smrauot 7 auwidefh
A ST STewd, 7t ot T o1mg o A uveH, Rt Rswufddh wiorar/a Reear
farem=ish g smd/emga & a<ar.

R : o guen, ge amga.

wd g, #ist og.

s (1): @ |, Tuer sngd.
st (11): et TrgeT, wiet enga.

1. fsepef (1) o (11) 8 Q= ekt aireet

X 2. fsend (1) fehar fAme (1) Gkt Qergt dehad gl
ag 3. chaes Feehd (11) TeheiTa aTe.

X 4. Zhae frse (1) adhaTd 2.

Ans

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680272650
6306801059162
6306801059161
6306801059160
6306801059159
Answered

2

0

Q.8 U fafre aafgar ‘YV2' @ ‘'TQ4' 2ft wefda oig. mauahR, ‘NK6' g ‘IF12’ 2ff Hsifde sg. «ra
AR SITERUT hewTd, ‘SP10’ @ Wicfierd<h shamaft Heifda amg?

Ans X 1.LM21

o 2. NK20

< 3.NH20

X 4. MK20

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680271611
6306801055518
6306801055519
6306801055516
6306801055517
Answered

2

2




Q.9 SRA =3 ‘+ 3R, ‘B’ = 31 '’ 311, ‘C’ = 3ref ‘-’ 3mfoy ‘D’ = 3ref '+ 3, AR Wrefierdehr

Ans

e gRomdt T 1820 sr@«e?

g 1.68D2B54A11C27
X 2.68A2B54C11D27
/< 3.68C2A54B11D27
X 4.68D2B54C11A27

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680271649
6306801055668
6306801055669
6306801055670
6306801055671
Answered

1

2

Q.10 vegrear 22 Tert AToTET=T 87 15 km/h 3@ 2nfoy yargran 8 2.5 km/h g, vargra fasg

Ans

et wroTETET 3 fRelt amd?

X 1.8.5km/h
7 2.12.5km/h
X 3.9km/h
W 4.10km/h

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287437
6306801117655
6306801117658
6306801117656
6306801117657
Answered

2

0

Q.11 gusit guismrer enutRa Rewar arfereha wsiRgren (?) sirft @ arger ga?

Ans

EF, JK, OP, TU, ?
< 1. WX
X 2.uw

W 3.YZ
X 4.YX

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680272744
6306801059537
6306801059538
6306801059536
6306801059535
Answered

3

2




Q.12 Rt ATl adhgeaT Yot suararsd! ? =1 R FrT ST arfgst?

Ans

N,2,Q,3T5W7727?
o 111
X 29

K 3.13
X 48

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680272775
6306801059660
6306801059661
6306801059662
6306801059659
Answered

1

2

Q.13 Tenr GiferaTer 100 Hiex 3ieRTeR ek TR g« SO dt =T are«inT &< ATTal. IR AT Jadat
31for &t 3=fter erevaTs gearda sRdl. SR @R 8 km/h a1 3R uted Srée Sifor giefis 10 km/h

Ans

N eTad 1€, TR U HTgR Uehsa! SITUATgdl TR IR dhetel iR 2.

51,250 Hiex
& 2,401 Hiex
o 3. 400 iz
X 4. 450 fiex

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287432
6306801117635
6306801117638
6306801117636
6306801117637
Answered

3

2

Q.14 @refter arferdar d@gof war onfor usimd IwR . (d S has Yah-sidh) dear amgd)

Ans

() 532681964732684895471856352 (Iurel)

1d 314 foreft fawm sier edd, Sai=ar uderr=an oiter 3meft Tk T 3feh A4t Snfoy et SR

e e sieReEfte dai?
F i
K 2.9
X 3.9R
W 4.7

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680272694
6306801059335
6306801059337
6306801059336
6306801059338
Answered

4

2




Q.15 ATEH g T1.2 &1 8000 ITEA TWREY hefl, Wed<hl 1.5 ST 1ToRet 3000 Ieure=t 3oy urd<hr
1.4 @1 IurEt 5000 IATE WY delt. ufer Iearear TRt e e, (IR € Eaniar
wTHiva guiffaha wr.)

Ans X 1.31.41

W 2.31.32
X 3.31.27

X 4.31.39

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680277284
6306801077585
6306801077588
6306801077586
6306801077587
Answered

2

2

Q.16 9R 2A&-Sitea feear smdd, Aardd = fRAfdre a9 g smda onfor g sl g, mera =1
U -l AT,

Ans X 1.3 : e
X 2. T7eRs A
< 3. ueft: gar

o 4. Qe &

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680277010
6306801076533
6306801076534
6306801076535
6306801076536
Answered

1

0

Q.17 Four word pairs have been given, out of which three are alike in some manner and one is
different. Select the one that is different.

Ans  &# 1. Pen : Pencil
/X 2. Jack: Car
25 3. Printer : Printing
/X 4. Tester : Electricity

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680277012
6306801076543
6306801076541
6306801076544
6306801076542
Answered

1

2




Q18 [~

Ans X 1.5faf

< 2,10 fafe
o 3. 9
X 415 @R
Question Type : MCQ
Question ID : 630680287468
Option 11D : 6306801117779
Option 2 1D : 6306801117781
Option 31D : 6306801117780
Option 4 1D : 6306801117782
Status : Answered
Chosen Option: 3
Marks : 2
Q.19 TiEar:3x7+4-6+3-7+45+5%x4+49.
Ans X 1.103
X 2.99
X 3.35
o 4.101
Question Type : MCQ
Question ID : 630680277228
Option 11D : 6306801077362
Option 2 ID : 6306801077363
Option 3 1D : 6306801077364
Option 4 1D : 6306801077361
Status : Answered
Chosen Option : 4
Marks : 2
Q.20 8.25 L g 9amargH, 55 ml =1 fohelt wgt= fAizrean aerear ddfier?
Ans X 1.145
X 2.120
o 3.150
X 4.125
Question Type : MCQ
Question ID : 630680277267
Option 11D : 6306801077519
Option 21D : 6306801077517
Option 3 1D : 6306801077520
Option 41D : 6306801077518
Status : Answered
Chosen Option: 3
Marks : 2




Q.21 feeh arferet adhgean gof glvarard), asiRegren (?) sinft R gafaidd wiorar gafg smer
arfger?

Ans

QT18 OR27 LO36 HK45 ?
< 1.DF55

W 2. CF54
7 3.DG54
7 4.CE55

Question Type

: MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

630680277051
6306801076700
6306801076697
6306801076699
6306801076698
Answered

2

2

Q.22 fRewan ieR-Tygi=an SISaT SaTHETv GehihiRft Tl 3118 ATayHIv §HH Hae e 31&R-

wig yataigH fAast.
HLG : MQL
DAV : IFA
Ans X 1.UJM:ZPS
7< 2. YHN : ENS
o 3. BUT : GZY
X 4.TGB:ZMG
Question Type : MCQ
Question ID : 630680272702
Option 11D : 6306801059369
Option 21D : 6306801059368
Option 3 ID : 6306801059370
Option 41D : 6306801059367
Status : Answered
Chosen Option: 3
Marks : 2
Q.23 feteh e enfor s wargde aran. fRumia Reeh arfaed & gt e aeaidef
AT AT ST, 7 Nt T 3T 3 i e, Rt Rsrufa R swturan/a freeed
fdtea faem=isht adhna eng/enga @ ava.
faem:
e wIfReh, U= 3. Yehg! U=Sal, T4 ATdl.
st 1: Tergl T, Wi ATEL.
fArsepef 2: @ et u=? e,
Ans X 1. %ae Aspy 2 TehaTd aTg.
s 2. Sheres ek 1 qeheiTTd 3.
X 3.1 fohar 2 B 2l freenef aehed e
X 4.1 fohar 2 & yarg) fAse adhaa ATt
Question Type : MCQ
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